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Section : Physics

Q.1 A sotne of mass 1kg is tied to a string 2m long and is rotated at constant speed of 40 ms™!in

a vertical circle . The ratio of the tension at the top and the bottom is [Take g = 10ms
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Question Type : MCQ
Question ID : 469665457
Option 11D : 4696651826
Option 2 ID : 4696651825
Option 31D : 4696651828
Option 4 ID : 4696651827
Status : Answered
Chosen Option : 2

Q.2 Two coils have a mutual inductance of 0.01 H. The current in the first coil changes according
to equation I = 5 sin 200mtt. The maximum value of e.m.f induced in the second coil is

Ans W 1. 10 volt

X 2 0.1mvolt

X3 mvolt

X 4 0.01 7 volt

Question Type : MCQ
Question ID : 469665460
Option 11D : 4696651839
Option 2 ID : 4696651840
Option 31D : 4696651837




Option 4 ID : 4696651838
Status : Answered

Chosen Option : 1

by
Ans x 1 1(}3

X 2. 102
W 3 10*

X 4 10°

Q.3 The radius of the earth and the radius of orbit around the sun are 6371 km and 149x10° km
respectively.The order of magnitude of the diameter of the orbit is greater than that of earth
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Option 11D :
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Status :

Chosen Option :

MCQ
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Not Attempted and Marked For Review

single pipe, its fundamental frequency will be
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Q.4 Two open pipes of different lengths and of same diameter in which the air column vibrates
with fundamental frequencies 'n{', and 'n,' respectively. When both pipes are joined to form a

Question Type :

Question ID :
Option 11D :
Option 21D :
Option 31D :
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Status :

McQ
469665464
4696651856
4696651853
4696651855
4696651854
Answered

Chosen Option : 4

Q.5

universal gas constant then * Cp' is equal to

If * Cp'and Cy are molar specific heats of an ideal gas at constant pressure
and volume respectively, If * A * is ratio of two specific heatsand 'R ' is
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Question Type : MCQ
Question ID : 469665462
Option 1 ID : 4696651847
Option 2 ID : 4696651846
Option 31D : 4696651848
Option 4 ID : 4696651845
Status : Answered
Chosen Option : 1
Q.6 In a series LCR circuit R=300Q ,L=0.9H,C=2pF , w =1000rad/s. The impedance of the circuit is
Ans  of 1 5000
X 2.13000
25 3.4000
25 4.9000
Question Type : MCQ
Question ID : 469665497
Option 11D : 4696651986
Option 2 ID : 4696651988
Option 31D : 4696651985
Option 4 ID : 4696651987
Status : Answered
Chosen Option : 1
Q.7 The quantity which does not vary periodically for a particle performing S.H.M. is
Ans X" 1. acceleration
! 2. total energy
x 3. displacement
x 4. velocity
Question Type : MCQ
Question ID : 469665483
Option 11D : 4696651931
Option 2 ID : 4696651932
Option 31D : 4696651929
Option 4 ID : 4696651930
Status : Answered
Chosen Option : 2

Q.8
Which of the following combinations of 7 identical capacitors each of 2uF gives a
resultant capacitance of 10/, uF?

Ans x 1. 3in parallel and 4 in series.




x 2.2 in parallel and 5 in series.
x 3.4 in parallel and 3 in series.

J 4.5 in parallel and 2 in series.

Question Type : MCQ
Question ID : 469665473
Option 11D : 4696651891
Option 2 ID : 4696651892
Option 31D : 4696651890
Option 4 1D : 4696651889
Status : Answered
Chosen Option : 4
Q9 Bohr model is applied to a particle of mass 'm "' and charge ' g ' moving
in a plane under the influence of a transverse magnetic field' B '.
The energy of the charged particle in the nt" level will be
( h = Planck’s constant )
Ans
< 2nhg B /mtm
X 2 nhqB/2mrm
o3 nhqgB/4mm
X 4 nhg B/mm
Question Type : MCQ
Question ID : 469665455
Option 11D : 4696651820
Option 2 ID : 4696651818
Option 31D : 4696651819
Option 4 ID : 4696651817
Status : Answered
Chosen Option: 3
Q.1 In moving coil galvanometer, strong horse shoe magnet of concave shaped pole pieces is
0 usedto
Ans x 1. increase space for roatation of coil.
x 2. reduce weight of galvanometer.
J 3. produce magnetic field which is parallel to plane of coil at any position.
x 4. make magnetic induction weak at the centre.
Question Type : MCQ
Question ID : 469665454
Option 11D : 4696651814
Option 2 ID : 4696651813
Option 31D : 4696651815
Option 4 1D : 4696651816
Status : Answered

Chosen Option : 2

1 length. If the elongation of 'Q' is more than that of 'P', then

Q.1 Two identical wires of substances 'P' and 'Q' are subjected to equal stretching force along the




Ans x 1. both P and Q are equally elastic.
« 2. P is more elastic than Q.
x 3. Pis plastic and Q is elastic.

x 4. Q is more elastic than P.

Question Type : MCQ
Question ID : 469665500
Option 11D : 4696651999
Option 2 ID : 4696651997
Option 31D : 4696652000
Option 4 ID : 4696651998

Status : Answered
Chosen Option : 4

Q.1

If W1, W2 and W5 represent the work done in moving a particle from A to B along
three different paths1,2 and 3 (as shown in fig) in the gravitational field of the point
mass 'm'. Find the correct relation between 'W¢','W>' and 'W3'

B 4—

Ans X' 1 W1<W3<W2
25 2. W1<w2<w3
o 3. wi=w2-w3

25 4. W1>W3>W2

Question Type : MCQ
Question ID : 469665469
Option 11D : 4696651875
Option 2 ID : 4696651876
Option 31D : 4696651874
Option 4 ID : 4696651873

Status : Answered
Chosen Option: 3

Q.1
3
Assuming that the junction diode is ideal, the current in the arrangement shown in
figure is
= \po L
+2V Rz=1to +1V

Ans X" 1.30mA

25 2. 40mA
o 3.20mA




25 4.10mA

Question Type : MCQ
Question ID : 469665466
Option 11D : 4696651863
Option 2 ID : 4696651864
Option 31D : 4696651862
Option 4 1D : 4696651861

Status : Answered
Chosen Option: 3

Q.1

The equation of simple harmonic progressive wave is given by
Y = asin2r (bt — cx)
The maximum particle velocity will be twice the wave velocity if

Ans % 1. c=ma
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Question Type : MCQ
Question ID : 469665479
Option 11D : 4696651914
Option 2 ID : 4696651915
Option 31D : 4696651913
Option 4 ID : 4696651916

Status : Answered

Chosen Option: 3

Q.1 In fundamental mode,the time required for the sound wave to reach upto the closed end of a
5 pipe filled with air is 't' second .The frequency of vibration of air column is

- -
X2 4@
X 2007t
v @

Question Type : MCQ
Question ID : 469665452
Option 11D : 4696651807
Option 2 ID : 4696651805
Option 31D : 4696651806




Option 4 ID : 4696651808
Status : Answered
Chosen Option : 1

Q.1 Two small drops of mercury each of radius 'R' coalesce to form a large single drop. The ratio
6 of the total surface energies before and after the change is

Ane X 1.22/3:
X 242:1
3 2'3:1

X4 2:1

Question Type : MCQ
Question ID : 469665451
Option 11D : 4696651802
Option 2 ID : 4696651804
Option 3 1D : 4696651801
Option 4 ID : 4696651803
Status : Answered
Chosen Option : 3
Q.1 If radius of the solid sphere is doubled by keeping its mass constant, the ratio of their
7 moment of inertia about any of its diameter is
Ans 1. 1:8
X2 2:5
X 323
( a. 1:4
Question Type : MCQ
Question ID : 469665496
Option 11D : 4696651981
Option 2 ID : 4696651983
Option 3 ID : 4696651984
Option 4 ID : 4696651982
Status : Answered
Chosen Option : 4
Q.1 For a metallic wire, the ratio of voltage to corresponding current is
8
Ans x 1. independent of temperature.
( 2. increases with rise in temperature.
x 3. increases or decreases with rise in temperature depending upon the metal.
x 4. decreases with rise in temperature.
Question Type : MCQ
Question ID : 469665477
Option 11D : 4696651905
Option 2 ID : 4696651906
Option 31D : 4696651908
Option 4 ID : 4696651907




Status :

Marked For Review

Chosen Option: 2
Q.1 In air, a charged soap bubble of radius 'R’ breaks into 27 small soap bubbles of equal radius 'r'.
9 Then the ratio of mechanical force acting per unit area of big soap bubble to that of a small
soap bubble is
Ans 1
1.8
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Question Type : MCQ
Question ID : 469665490
Option 1 ID : 4696651957
Option 2 ID : 4696651959
Option 31D : 4696651958
Option 4 ID : 4696651960
Status : Answered
Chosen Option : 3
Q.2 Two parallel conductors carrying unequal currents in the same direction
0
Ans x 1. neither attract nor repel each other.
x 2. repel each other.
! 3. attract each other.
x 4. will have rotational motion.
Question Type : MCQ
Question ID : 469665468
Option 11D : 4696651871
Option 2 ID : 4696651870
Option 31D : 4696651869
Option 4 ID : 4696651872
Status : Answered
Chosen Option : 3

Q.2 A layer of atmosphere that reflects medium frequency radio waves which is ineffective during
1 night, is

Ans 3" 1 F layer

( 2. E layer

x 3. stratosphere
x 4. thermosphere

Question Type : MCQ
Question ID : 469665459
Option 11D : 4696651834




Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

4696651835
4696651833
4696651836
Marked For Review
4

Q.2 A transverse wave is propagating on the string.The linear density of a vibrating string is 103
2 kg/m. The equation of the wave is Y = 0.05 sin(x+15t) where x and Y are in metre and time in
second.The tension in the string is

Ans X" 102N

< 2.0.250N
o 3.0225N
X 4.0325N
Question Type : MCQ
Question ID : 469665481
Option 11D : 4696651921
Option 2 ID : 4696651923
Option 3 ID : 4696651922
Option 4 D : 4696651924
Status : Answered
Chosen Option : 3
Q2 The kinetic energy of a revolving satellite (mass m) at a height equal to
thrice the radius of the earth (R) is
Ans ( 1 ng
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Question Type : MCQ
Question ID : 469665476
Option 11D : 4696651903
Option 2 ID : 4696651904
Option 31D : 4696651901
Option 4 ID : 4696651902
Status : Answered
Chosen Option : 1

Q.2 A particle executes the simple hormonic motion with an amplitude ' A'. The distance travelled
4 by it in one periodic time is

A
X

Ans

2
X 2




X3 24
W 4 44

Question Type : MCQ
Question ID : 469665491
Option 11D : 4696651961
Option 2 ID : 4696651962
Option 31D : 4696651963
Option 4 ID : 4696651964
Status : Answered
Chosen Option : 4
Q.2 A galvanometer has resistance of 100Q and a current of 10mA produces full scale deflection
5 init. The resistance to be connected to it in series, to get a voltmeter of range 50 volt is
Ans X" 1.39000
25 2.40000
X 3.46000
o 4. 49000
Question Type : MCQ
Question ID : 469665489
Option 11D : 4696651953
Option 2 ID : 4696651954
Option 3 ID : 4696651955
Option 4 ID : 4696651956
Status : Answered
Chosen Option : 4
Q.2 The angle made by orbital angular momentum of electron with the direction of the orbital
6 magnetic moment is
Ans X" 1.120°
25 2.60°
o 3.180°
X 4.90°
Question Type : MCQ
Question ID : 469665488
Option 11D : 4696651951
Option 2 ID : 4696651949
Option 3 ID : 4696651952
Option 4 ID : 4696651950
Status : Marked For Review
Chosen Option : 3
Q.2




The current in 1Q resistor in the following circuit is

Ans ( 1.1A
X 2.05A
X 3.11A
X 4.08A

Question Type : MCQ
Question ID : 469665461
Option 11D : 4696651843
Option 2 ID : 4696651841
Option 31D : 4696651844
Option 4 ID : 4696651842
Status : Answered
Chosen Option : 1

Q.2 The wave length of the first line in Balmer series in the hydrogen spectrum is 'A". What is the
8 wavelength of the second line in the same series?

Ans

Question Type : MCQ
Question ID : 469665495
Option 11D : 4696651977
Option 2 ID : 4696651978
Option 31D : 4696651979
Option 4 ID : 4696651980
Status : Answered
Chosen Option : 1

Q.2 Work done in stretching a wire through 1Tmm is 2J. What amount of work will be done for
9 elongating another wire of same material, with half the length and double the radius of cross
section, by 1 mm?




Ans X' 1.2J

K240
X 3.8J
o 416
Question Type : MCQ
Question ID : 469665465
Option 11D : 4696651857
Option 2 ID : 4696651858
Option 31D : 4696651859
Option 4 ID : 4696651860
Status : Answered
Chosen Option : 4
Q.3 N 5 N o -
0  The resultant R of P and Q is perpendicularto P. Also | P| = | R |. The angle
between P and @ is [tan 45° = 1]
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Question Type : MCQ
Question ID : 469665475
Option 1 ID : 4696651899
Option 2 ID : 4696651900
Option 31D : 4696651897
Option 4 ID : 4696651898
Status : Answered
Chosen Option : 3
Q.3 A telescope has large diameter of the objective.Then its resolving power is
1
Ans x 1. independent of the diameter of the objective.
x 2. low.
x 3. zero.
o 4 high.
Question Type : MCQ
Question ID : 469665482
Option 11D : 4696651928
Option 2 ID : 4696651927
Option 31D : 4696651925
Option 4 ID : 4696651926
Status : Answered
Chosen Option: 2




Q.3 A uniform rod of length ‘6L" and mass ‘8m’ is pivoted at its centre ‘C’. Two masses 'm’
2 and “2m’ with speed 2v, v as shown strikes the rod and stick to the rod. Initially the rod
is at rest. Due to impact, if it rotates with angular velocity ‘w,' then 'w' will be.

2m
‘ E 2L ;
l e |
EL C 2v

Ans v
v oEL
X 2. Zero
8v
3' —_—
x 6L
11w
4, —
x 3L

Question Type : MCQ
Question ID : 469665463
Option 1 ID : 4696651852
Option 2 ID : 4696651849
Option 31D : 4696651850
Option 4 ID : 4696651851
Status : Marked For Review
Chosen Option : 4

Qé3 If vAZ + B? represents the magnitude of resultant of two vectors (E + _B') and {E - E_‘s"j,
then the angle between two vectors is

Ans & Z(Az _ Bz)
x 1. COS [— W]

X 2 cos™[— %}
A? + B2
v CDS_I[— ﬁ]

Question Type : MCQ
Question ID : 469665494
Option 11D : 4696651976
Option 2 ID : 4696651975
Option 31D : 4696651973
Option 4 1D : 4696651974




Status : Answered
Chosen Option : 4
Q.3
4
A thin metal wire of length ‘L' and uniform linear mass density 'g' is bent into a
circular coil with 'o" as centre. The moment of inertia of a coil about the axis XX'is
X X
Ans
1. 30L%/8r"
X 2. oL*/am?
X 3. 3eL’/anm?
X 4 el®/8m”
Question Type : MCQ
Question ID : 469665471
Option 11D : 4696651881
Option 2 ID : 4696651884
Option 31D : 4696651883
Option 4 ID : 4696651882
Status : Answered
Chosen Option : 1
Q.3 The dimensions of torque are same as that of
5
Ans ! 1. moment of force.
x 2. pressure.
x 3. acceleration.
x 4. impulse.
Question Type : MCQ
Question ID : 469665484
Option 11D : 4696651933
Option 2 ID : 4696651934
Option 31D : 4696651935
Option 4 ID : 4696651936
Status : Answered
Chosen Option : 1

Ans

063 For transistor, the current ratio "5, is defined as the ratio of

x 1. collector current to emitter current
J 2. collector current to base current
x 3. base current to collector current

x 4. emitter current to collector current




Question Type :
Question ID :
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status :

Chosen Option :

McQ
469665487

: 4696651946
: 4696651948
: 4696651945
1 4696651947

Marked For Review
3

Q.3 A clock pendulum having coefficient of linear expansion a = 9x1077/°C has a period of 0.5 s at
7 20° C. If the clock is used in a climate where the temperature is 30° C, how much time does

Ans

the clock lose in each oscillation?(g=constant)

25 1.2.5x107s

x 2.5x107s

X 3.1.125x10s

W 422510

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

McQ
469665480
4696651917
4696651918
4696651919
4696651920
Answered

Chosen Option : 4

Q.3 Two capillary tubes of different diameters are dipped in water .The rise of water is
8

Ans X" 1. zero in both the tubes
x 2. same in both the tubes
x 3. more in the tube of larger diameter

! 4. more in the tube of smaller diameter

Question Type : MCQ
Question ID : 469665472
Option 11D : 4696651888
Option 2 ID : 4696651887
Option 3 ID : 4696651885
Option 4 ID : 4696651886
Status : Answered
Chosen Option : 4
Q.3 A thin hollow prism of refracting angle 3°, filled with water gives a deviation of 1°.The
9 refractive index of water is
Ans X' 1.1.59
o 2133
X 3.1.46
X 4151
Question Type : MCQ
Question ID : 469665486
Option 11D : 4696651944
Option 2 ID : 4696651941




Option 3 ID : 4696651942
Option 4 ID : 4696651943
Status : Answered
Chosen Option : 2

Q.4 A body is projected vertically from the surface of the earth of radius 'R’ with velocity equal to
0 half of the escape velocity. The maximum height reached by the body is

Ans X' 1 R/5
o 2R3
X 3.R2
5 4 R/4
Question Type : MCQ
Question ID : 469665470
Option 11D : 4696651880

Option 2 ID : 4696651878
Option 3 ID : 4696651877
Option 4 ID : 4696651879
Status : Answered
Chosen Option : 2

Q.4 In biprism experiment ,the distance between source and eyepiece is 1.2 m,the distance
1 between two virtual sources is 0.84 mm. Then the wavelength of light used if eyepiece is to
be moved transversely through a distance of 2.799 cm to shift 30 fringes is

Ans 1. 6533 A
2.6537 A
3.6535 A
4.6351 A

Note: For this question, discrepancy is found in question/answer. Full Marks is being awarded
to all candidates.

Question Type : MCQ
Question ID : 469665453
Option 11D : 4696651810
Option 2 ID : 4696651812
Option 31D : 4696651811
Option 4 ID : 4696651809

Status : Answered

Chosen Option : 4

Q.4 When phatons of energy hv fall on metal plate of work function “Wo', photoelectrons of
maximum kinetic enrgy ‘K’ are ejected. If the frequency of the radiation is doubled, the
maximum kinetic energy of the ejected photoelectrons will be

XK +w,
v 2 K+hy
X3 K
X4 2K

Question Type : MCQ
Question ID : 469665493
Option 11D : 4696651971




Option 2 ID : 4696651972
Option 31D : 4696651969
Option 4 ID : 4696651970
Status : Answered
Chosen Option : 2
Q.4 If a star emitting yellow light is accelerated towards earth, them to an observer on earth it will
3 appear
Ans x 1. becoming orange.
x 2. shining yellow.
“ 3. gradually changing to blue.
x 4. gradually changing to red.
Question Type : MCQ
Question ID : 469665478
Option 11D : 4696651910
Option 2 ID : 4696651909
Option 31D : 4696651912
Option 4 ID : 4696651911
Status : Answered

Chosen Option : 3

Ans g ik

< 1. Bayic = PR |

v 2 Baxis = =i Anid
4T rd
: po 2nl
Baxis =—.——=
xs 411 Ar3
) o niA
4 B = — —
X WS = 4 72

°44 The magnitude of magnetic induction at a point on the axis at a large
distance ( r ) from the centre of circular coil of "'n ' turns, and area' A’
carrying current (I ) is given by

Question Type :
Question ID :
Option 11D :
Option 21D :

Option 31D :
Option 41D :
Status :

Chosen Option :

McQ
469665456
4696651822
4696651824
4696651823
4696651821
Answered

2

same liquid, its terminal velocity will be

Ans X 1.V[(0+0)/(Q1+0)]
#< 2. Vi(e1+0)/(ez+0)]
W 3. Vi(er0)/(e-0)]

Q.4 A metal sphere of radius 'R' and density 'e' is dropped in a liquid of density 'c' moves with
5 terminal velocity 'V'. Another metal sphere of same radius and density '’ is dropped in the




75 4.VI(e1-0)/(ez0)]

Question Type : MCQ
Question ID : 469665458
Option 11D : 4696651830
Option 2 ID : 4696651832
Option 31D : 4696651829
Option 4 1D : 4696651831
Status : Answered
Chosen Option: 3
Q.4 If « is the coefficient of performance of a refrigerator and 'Q;' is heat released to the hot
reservoir, then the heat extracted from the cold reservoir 'Q,' is
Ans
X1 2
a—1
X2 B
o
Qs
3
1+a
X 4 1+a 0
1
[
Question Type : MCQ
Question ID : 469665492
Option 11D : 4696651967
Option 2 ID : 4696651966
Option 31D : 4696651968
Option 4 ID : 4696651965
Status : Answered
Chosen Option : 2

Q4 The real force ' F' acting on a particle of mass ' m ' performing circular motion acts
along the radius of circle ' r ' and is directed towards the centre of circle. The square
root of magnitude of such force is ( T = periodic time )

Ans

2m
v ?ﬂmr

X 2

Question Type : MCQ
Question ID : 469665498
Option 11D : 4696651991




Option 2 ID : 4696651989
Option 31D : 4696651992
Option 4 ID : 4696651990
Status : Answered
Chosen Option : 1
Q.4 Dimensions of Gyromagnetic ratio are
8
Ans X" 1 [L'MOTTT]
o 2. 1107771
25 3. 1L'MOTOr]
X 4 'morT )
Question Type : MCQ
Question ID : 469665467
Option 11D : 4696651865
Option 2 ID : 4696651867
Option 31D : 4696651868
Option 4 ID : 4696651866
Status : Marked For Review
Chosen Option: 3
Q4 The maximum velocity of the photoelectron emitted by the metal surface is ' V .
Charge and mass of the photoelectron is denoted by ' e ' and ' m ' respectively. The
stopping potential in volt is
Ans V2
X1 m
2 i)
)
VZ
v2 e
2 i,
)
VZ
m
VZ
X4 Tm
()
Question Type : MCQ
Question ID : 469665499
Option 1 ID : 4696651995
Option 2 ID : 4696651993
Option 3 ID : 4696651994
Option 4 ID : 4696651996
Status : Answered
Chosen Option: 2

Q5 The equiconvex lens has a focal length ' f'. If the lens is cut along the line

length of any half part ?

Ans

perpendicular to principal axis and passing through the pole,what will be the focal




A

McQ
469665474
4696651893
4696651896
4696651895
4696651894
Answered

V2 2f
3
X3 3
2
Xa f
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option : 4

Section : Chemistry

Q.1 Which of following methods is used to separate wolframite and stannic oxide present in
cassiterite?

Ans x 1. Hydraulic washing using Wilfley table
x 2. Froth flotation
x 3. Hydraulic classifier

J 4. Magnetic separation

Question Type : MCQ
Question ID : 469665526
Option 1 ID : 4696652104
Option 2 ID : 4696652101
Option 31D : 4696652103
Option 4 ID : 4696652102
Status : Answered
Chosen Option : 4
%2 In the reaction , MNO4 " (aq) + Br(aq) — MNOyey+ Broz,, the
correct change in oxidation number of the species involved is
Ans x 1. Br*® to Br’!
x 2. Mn*7 to Mn*2
25 3. Mn*7 to Mn*3
J 4.Br'to Brt®
Question Type : MCQ
Question ID : 469665534
Option 11D : 4696652136
Option 2 ID : 4696652133
Option 3 ID : 4696652134




